] Surname Initial{s)
i :ﬂre Paper Reference {eorre ﬁifglk%

Candida Signature ,
31810/ 3H™" "M sewwar -

Paper Refersnce(s)

1380/3H _ s e ol

Edexcel E
Mathematics (Linear) — 1380 |
Paper 3 (Non-Calculator)

ransformation of Curves

Past Paper Questions

Arranged by Topic

Materials required for examination Ftems included with guestion papers
Ruler graduated in centimetres and Nil

millimetres, protractor, compasses,

pen, HB pencil, eraser,

Tracing paper may be used.

- Imstructions to Candidates

in the boxes abave, write your centre number, candidate number, your surname. initials and signature,
Check that you have the correct question paper.

Answer ALL the questions. Write your answers in the spaces provided in this question paper.

You must NOT write on the formulae page.

Anything vou write on the formulae page will gain NO credit.

[f you need more space to complete vour answer (o any question, use additional answer sheets,

Information for Candidates

The marks for individual questions and the parts of questions are shown in round brackets: e.g. {2).
There are 26 questions in this question paper. The total mark for this paper is 100

There are 24 pages in this guestion paper. Any blank pages are indicated,

Calculators must not be used,

Adviee to Candidates

Show aii stages in any calcuiations.

Work steadily through the paper. Do not spend too long on one question.
I vou cannot answer a question, leave it and attempt the next one.

Return at the end to those you have lefl oul.
l" !m] !i “ tlnl [““ ” m; mli Nm Hl“ l Iil" e
N3 4 7 30 A G 12 4

Lots more free papers at:
http://bland.in

Clampiled by Peter Bland

0

advancing learning, changing lives




4
R
Y
B
\ y = fx)
.\.
] . X

(2,-1)
The diagram shows part of the curve with equation y = f{x)

The minimum point of the curve is at (2,-1)

(a) Write down the coordinates of the minimum point of the curve with equation

G) y=fx+2) {2,-1) wﬁ( s - 1) (% -1
Gy y=3ig (20 -1) {2, -3) (2,-3)
..................................... -

The curve y = f{x) is reflected in the y axis.

(b) Find the equation of the curve following this transformation.

The curve with equation v = f(x) has been transformed to give the curve with equation
y=fx)+2

(¢) Describe the transformation.

(Total 5 marks)
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The diagram shows part of the curve with equation y = ().
The coordinates of the maximum point of this curve are (2, 3).

Write down the coordinates of the maximum point of the curve with equation

R N . s
fa o ( 2.

o y-aw  (43) 2 (25 6)

.....................

{Total 2 marks)
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3. The diagram shows a skeich of the curve y = sinx® for 0 < x < 360

V3

The exact value of sins0° =
{a) Write down the exact value of

() sin120°,

(iy sin240°,
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The curve with equation y = f{x} is translated so that the point at (0, 0) is mapped onto the
point (4, 0).

{a) Find an equ’ztxan of the transiated curve.

fin) = 5 hewslaked fw{{x 4) = (- 4*‘)
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The grid shows the graph of y = cosx® for values of x from 0 to 340
(b} On the grid, sketch the graph of v = 3cos(2x°) for values of x from € to 340

(Z)

(Total 4 marks)

[
. Leave
blank.
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5. This is a sketch of the curve with the equation y = f{x).
The only minimum peint of the curve is at P(3, —4),
Ya
¥ = x)
O "X
P(3,-4)
{a} Write down the coordinates of the minimum point of the curve with the equation
y="1fx-2)
(374) 3 5 =4
%+ 2 (2)
(b) Write down the coordinates of the minimum point of the curve with the eguation
yv=fx+5+6
(3:-4) —a (3-5;-4+6)
-2
(oo s erinien )
(2 Q5
(Total 4 marks)




6. The graph of y = f{x} is shown on the grid.

The graph G is a translation of the graph of v = f{x).

{a} Write down, interms of T, the equ&heﬁ of graph G.

Translahon v ( e?)
‘ {:{%} w“? %‘i’?ﬂ‘ {5)

(1
The graph of vy = f{x} has a maximum point at (—4, 3}
(b) Write down the coordinates of the maximum point of the graph of p = f{—x).
£ O fx)
{_mq 3) wa&% i ’?5)
' 75) g 3
(i s e }
{2}

{Total 3 marks}
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